
Tri cocktail -86 91 56 -95 -6 -67 -80 41 86 -25 55 -42 -75 75 63

swapped = False

lower_bound = 0

i = 0

upper_bound = 14



Tri cocktail -86 91 56 -95 -6 -67 -80 41 86 -25 55 -42 -75 75 63

swapped = False

lower_bound = 0

i = 0

upper_bound = 14



Tri cocktail -86 91 56 -95 -6 -67 -80 41 86 -25 55 -42 -75 75 63

swapped = False

lower_bound = 0

i = 1

upper_bound = 14



Tri cocktail -86 91 56 -95 -6 -67 -80 41 86 -25 55 -42 -75 75 63

swapped = False

lower_bound = 0

i = 1

upper_bound = 14



Tri cocktail -86 56 91 -95 -6 -67 -80 41 86 -25 55 -42 -75 75 63

swapped = False

lower_bound = 0

i = 1

upper_bound = 14



Tri cocktail -86 56 91 -95 -6 -67 -80 41 86 -25 55 -42 -75 75 63

swapped = True

lower_bound = 0

i = 2

upper_bound = 14



Tri cocktail -86 56 91 -95 -6 -67 -80 41 86 -25 55 -42 -75 75 63

swapped = True

lower_bound = 0

i = 2

upper_bound = 14



Tri cocktail -86 56 91 -95 -6 -67 -80 41 86 -25 55 -42 -75 75 63

swapped = True

lower_bound = 0

i = 2

upper_bound = 14



Tri cocktail -86 56 -95 91 -6 -67 -80 41 86 -25 55 -42 -75 75 63

swapped = True

lower_bound = 0

i = 2

upper_bound = 14



Tri cocktail -86 56 -95 91 -6 -67 -80 41 86 -25 55 -42 -75 75 63

swapped = True

lower_bound = 0

i = 3

upper_bound = 14



Tri cocktail -86 56 -95 91 -6 -67 -80 41 86 -25 55 -42 -75 75 63

swapped = True

lower_bound = 0

i = 3

upper_bound = 14



Tri cocktail -86 56 -95 91 -6 -67 -80 41 86 -25 55 -42 -75 75 63

swapped = True

lower_bound = 0

i = 3

upper_bound = 14



Tri cocktail -86 56 -95 -6 91 -67 -80 41 86 -25 55 -42 -75 75 63

swapped = True

lower_bound = 0

i = 3

upper_bound = 14



Tri cocktail -86 56 -95 -6 91 -67 -80 41 86 -25 55 -42 -75 75 63

swapped = True

lower_bound = 0

i = 4

upper_bound = 14



Tri cocktail -86 56 -95 -6 91 -67 -80 41 86 -25 55 -42 -75 75 63

swapped = True

lower_bound = 0

i = 4

upper_bound = 14



Tri cocktail -86 56 -95 -6 91 -67 -80 41 86 -25 55 -42 -75 75 63

swapped = True

lower_bound = 0

i = 4

upper_bound = 14



Tri cocktail -86 56 -95 -6 -67 91 -80 41 86 -25 55 -42 -75 75 63

swapped = True

lower_bound = 0

i = 4

upper_bound = 14



Tri cocktail -86 56 -95 -6 -67 91 -80 41 86 -25 55 -42 -75 75 63

swapped = True

lower_bound = 0

i = 5

upper_bound = 14



Tri cocktail -86 56 -95 -6 -67 91 -80 41 86 -25 55 -42 -75 75 63

swapped = True

lower_bound = 0

i = 5

upper_bound = 14



Tri cocktail -86 56 -95 -6 -67 91 -80 41 86 -25 55 -42 -75 75 63

swapped = True

lower_bound = 0

i = 5

upper_bound = 14



Tri cocktail -86 56 -95 -6 -67 -80 91 41 86 -25 55 -42 -75 75 63

swapped = True

lower_bound = 0

i = 5

upper_bound = 14



Tri cocktail -86 56 -95 -6 -67 -80 91 41 86 -25 55 -42 -75 75 63

swapped = True

lower_bound = 0

i = 6

upper_bound = 14



Tri cocktail -86 56 -95 -6 -67 -80 91 41 86 -25 55 -42 -75 75 63

swapped = True

lower_bound = 0

i = 6

upper_bound = 14



Tri cocktail -86 56 -95 -6 -67 -80 91 41 86 -25 55 -42 -75 75 63

swapped = True

lower_bound = 0

i = 6

upper_bound = 14



Tri cocktail -86 56 -95 -6 -67 -80 41 91 86 -25 55 -42 -75 75 63

swapped = True

lower_bound = 0

i = 6

upper_bound = 14



Tri cocktail -86 56 -95 -6 -67 -80 41 91 86 -25 55 -42 -75 75 63

swapped = True

lower_bound = 0

i = 7

upper_bound = 14



Tri cocktail -86 56 -95 -6 -67 -80 41 91 86 -25 55 -42 -75 75 63

swapped = True

lower_bound = 0

i = 7

upper_bound = 14



Tri cocktail -86 56 -95 -6 -67 -80 41 91 86 -25 55 -42 -75 75 63

swapped = True

lower_bound = 0

i = 7

upper_bound = 14



Tri cocktail -86 56 -95 -6 -67 -80 41 86 91 -25 55 -42 -75 75 63

swapped = True

lower_bound = 0

i = 7

upper_bound = 14



Tri cocktail -86 56 -95 -6 -67 -80 41 86 91 -25 55 -42 -75 75 63

swapped = True

lower_bound = 0

i = 8

upper_bound = 14



Tri cocktail -86 56 -95 -6 -67 -80 41 86 91 -25 55 -42 -75 75 63

swapped = True

lower_bound = 0

i = 8

upper_bound = 14



Tri cocktail -86 56 -95 -6 -67 -80 41 86 91 -25 55 -42 -75 75 63

swapped = True

lower_bound = 0

i = 8

upper_bound = 14



Tri cocktail -86 56 -95 -6 -67 -80 41 86 -25 91 55 -42 -75 75 63

swapped = True

lower_bound = 0

i = 8

upper_bound = 14



Tri cocktail -86 56 -95 -6 -67 -80 41 86 -25 91 55 -42 -75 75 63

swapped = True

lower_bound = 0

i = 9

upper_bound = 14



Tri cocktail -86 56 -95 -6 -67 -80 41 86 -25 91 55 -42 -75 75 63

swapped = True

lower_bound = 0

i = 9

upper_bound = 14



Tri cocktail -86 56 -95 -6 -67 -80 41 86 -25 91 55 -42 -75 75 63

swapped = True

lower_bound = 0

i = 9

upper_bound = 14



Tri cocktail -86 56 -95 -6 -67 -80 41 86 -25 55 91 -42 -75 75 63

swapped = True

lower_bound = 0

i = 9

upper_bound = 14



Tri cocktail -86 56 -95 -6 -67 -80 41 86 -25 55 91 -42 -75 75 63

swapped = True

lower_bound = 0

i = 10

upper_bound = 14



Tri cocktail -86 56 -95 -6 -67 -80 41 86 -25 55 91 -42 -75 75 63

swapped = True

lower_bound = 0

i = 10

upper_bound = 14



Tri cocktail -86 56 -95 -6 -67 -80 41 86 -25 55 91 -42 -75 75 63

swapped = True

lower_bound = 0

i = 10

upper_bound = 14



Tri cocktail -86 56 -95 -6 -67 -80 41 86 -25 55 -42 91 -75 75 63

swapped = True

lower_bound = 0

i = 10

upper_bound = 14



Tri cocktail -86 56 -95 -6 -67 -80 41 86 -25 55 -42 91 -75 75 63

swapped = True

lower_bound = 0

i = 11

upper_bound = 14



Tri cocktail -86 56 -95 -6 -67 -80 41 86 -25 55 -42 91 -75 75 63

swapped = True

lower_bound = 0

i = 11

upper_bound = 14



Tri cocktail -86 56 -95 -6 -67 -80 41 86 -25 55 -42 91 -75 75 63

swapped = True

lower_bound = 0

i = 11

upper_bound = 14



Tri cocktail -86 56 -95 -6 -67 -80 41 86 -25 55 -42 -75 91 75 63

swapped = True

lower_bound = 0

i = 11

upper_bound = 14



Tri cocktail -86 56 -95 -6 -67 -80 41 86 -25 55 -42 -75 91 75 63

swapped = True

lower_bound = 0

i = 12

upper_bound = 14



Tri cocktail -86 56 -95 -6 -67 -80 41 86 -25 55 -42 -75 91 75 63

swapped = True

lower_bound = 0

i = 12

upper_bound = 14



Tri cocktail -86 56 -95 -6 -67 -80 41 86 -25 55 -42 -75 91 75 63

swapped = True

lower_bound = 0

i = 12

upper_bound = 14



Tri cocktail -86 56 -95 -6 -67 -80 41 86 -25 55 -42 -75 75 91 63

swapped = True

lower_bound = 0

i = 12

upper_bound = 14



Tri cocktail -86 56 -95 -6 -67 -80 41 86 -25 55 -42 -75 75 91 63

swapped = True

lower_bound = 0

i = 13

upper_bound = 14



Tri cocktail -86 56 -95 -6 -67 -80 41 86 -25 55 -42 -75 75 91 63

swapped = True

lower_bound = 0

i = 13

upper_bound = 14



Tri cocktail -86 56 -95 -6 -67 -80 41 86 -25 55 -42 -75 75 91 63

swapped = True

lower_bound = 0

i = 13

upper_bound = 14



Tri cocktail -86 56 -95 -6 -67 -80 41 86 -25 55 -42 -75 75 63 91

swapped = True

lower_bound = 0

i = 13

upper_bound = 14



Tri cocktail -86 56 -95 -6 -67 -80 41 86 -25 55 -42 -75 75 63 91

swapped = False

lower_bound = 0

i = 13

upper_bound = 13



Tri cocktail -86 56 -95 -6 -67 -80 41 86 -25 55 -42 -75 75 63 91

swapped = False

lower_bound = 0

i = 13

upper_bound = 13



Tri cocktail -86 56 -95 -6 -67 -80 41 86 -25 55 -42 -75 75 63 91

swapped = False

lower_bound = 0

i = 13

upper_bound = 13



Tri cocktail -86 56 -95 -6 -67 -80 41 86 -25 55 -42 -75 63 75 91

swapped = False

lower_bound = 0

i = 13

upper_bound = 13



Tri cocktail -86 56 -95 -6 -67 -80 41 86 -25 55 -42 -75 63 75 91

swapped = True

lower_bound = 0

i = 12

upper_bound = 13



Tri cocktail -86 56 -95 -6 -67 -80 41 86 -25 55 -42 -75 63 75 91

swapped = True

lower_bound = 0

i = 12

upper_bound = 13



Tri cocktail -86 56 -95 -6 -67 -80 41 86 -25 55 -42 -75 63 75 91

swapped = True

lower_bound = 0

i = 11

upper_bound = 13



Tri cocktail -86 56 -95 -6 -67 -80 41 86 -25 55 -42 -75 63 75 91

swapped = True

lower_bound = 0

i = 11

upper_bound = 13



Tri cocktail -86 56 -95 -6 -67 -80 41 86 -25 55 -75 -42 63 75 91

swapped = True

lower_bound = 0

i = 11

upper_bound = 13



Tri cocktail -86 56 -95 -6 -67 -80 41 86 -25 55 -75 -42 63 75 91

swapped = True

lower_bound = 0

i = 10

upper_bound = 13



Tri cocktail -86 56 -95 -6 -67 -80 41 86 -25 55 -75 -42 63 75 91

swapped = True

lower_bound = 0

i = 10

upper_bound = 13



Tri cocktail -86 56 -95 -6 -67 -80 41 86 -25 55 -75 -42 63 75 91

swapped = True

lower_bound = 0

i = 10

upper_bound = 13



Tri cocktail -86 56 -95 -6 -67 -80 41 86 -25 -75 55 -42 63 75 91

swapped = True

lower_bound = 0

i = 10

upper_bound = 13



Tri cocktail -86 56 -95 -6 -67 -80 41 86 -25 -75 55 -42 63 75 91

swapped = True

lower_bound = 0

i = 9

upper_bound = 13



Tri cocktail -86 56 -95 -6 -67 -80 41 86 -25 -75 55 -42 63 75 91

swapped = True

lower_bound = 0

i = 9

upper_bound = 13



Tri cocktail -86 56 -95 -6 -67 -80 41 86 -25 -75 55 -42 63 75 91

swapped = True

lower_bound = 0

i = 9

upper_bound = 13



Tri cocktail -86 56 -95 -6 -67 -80 41 86 -75 -25 55 -42 63 75 91

swapped = True

lower_bound = 0

i = 9

upper_bound = 13



Tri cocktail -86 56 -95 -6 -67 -80 41 86 -75 -25 55 -42 63 75 91

swapped = True

lower_bound = 0

i = 8

upper_bound = 13



Tri cocktail -86 56 -95 -6 -67 -80 41 86 -75 -25 55 -42 63 75 91

swapped = True

lower_bound = 0

i = 8

upper_bound = 13



Tri cocktail -86 56 -95 -6 -67 -80 41 86 -75 -25 55 -42 63 75 91

swapped = True

lower_bound = 0

i = 8

upper_bound = 13



Tri cocktail -86 56 -95 -6 -67 -80 41 -75 86 -25 55 -42 63 75 91

swapped = True

lower_bound = 0

i = 8

upper_bound = 13



Tri cocktail -86 56 -95 -6 -67 -80 41 -75 86 -25 55 -42 63 75 91

swapped = True

lower_bound = 0

i = 7

upper_bound = 13



Tri cocktail -86 56 -95 -6 -67 -80 41 -75 86 -25 55 -42 63 75 91

swapped = True

lower_bound = 0

i = 7

upper_bound = 13



Tri cocktail -86 56 -95 -6 -67 -80 41 -75 86 -25 55 -42 63 75 91

swapped = True

lower_bound = 0

i = 7

upper_bound = 13



Tri cocktail -86 56 -95 -6 -67 -80 -75 41 86 -25 55 -42 63 75 91

swapped = True

lower_bound = 0

i = 7

upper_bound = 13



Tri cocktail -86 56 -95 -6 -67 -80 -75 41 86 -25 55 -42 63 75 91

swapped = True

lower_bound = 0

i = 6

upper_bound = 13



Tri cocktail -86 56 -95 -6 -67 -80 -75 41 86 -25 55 -42 63 75 91

swapped = True

lower_bound = 0

i = 6

upper_bound = 13



Tri cocktail -86 56 -95 -6 -67 -80 -75 41 86 -25 55 -42 63 75 91

swapped = True

lower_bound = 0

i = 5

upper_bound = 13



Tri cocktail -86 56 -95 -6 -67 -80 -75 41 86 -25 55 -42 63 75 91

swapped = True

lower_bound = 0

i = 5

upper_bound = 13



Tri cocktail -86 56 -95 -6 -80 -67 -75 41 86 -25 55 -42 63 75 91

swapped = True

lower_bound = 0

i = 5

upper_bound = 13



Tri cocktail -86 56 -95 -6 -80 -67 -75 41 86 -25 55 -42 63 75 91

swapped = True

lower_bound = 0

i = 4

upper_bound = 13



Tri cocktail -86 56 -95 -6 -80 -67 -75 41 86 -25 55 -42 63 75 91

swapped = True

lower_bound = 0

i = 4

upper_bound = 13



Tri cocktail -86 56 -95 -6 -80 -67 -75 41 86 -25 55 -42 63 75 91

swapped = True

lower_bound = 0

i = 4

upper_bound = 13



Tri cocktail -86 56 -95 -80 -6 -67 -75 41 86 -25 55 -42 63 75 91

swapped = True

lower_bound = 0

i = 4

upper_bound = 13



Tri cocktail -86 56 -95 -80 -6 -67 -75 41 86 -25 55 -42 63 75 91

swapped = True

lower_bound = 0

i = 3

upper_bound = 13



Tri cocktail -86 56 -95 -80 -6 -67 -75 41 86 -25 55 -42 63 75 91

swapped = True

lower_bound = 0

i = 3

upper_bound = 13



Tri cocktail -86 56 -95 -80 -6 -67 -75 41 86 -25 55 -42 63 75 91

swapped = True

lower_bound = 0

i = 2

upper_bound = 13



Tri cocktail -86 56 -95 -80 -6 -67 -75 41 86 -25 55 -42 63 75 91

swapped = True

lower_bound = 0

i = 2

upper_bound = 13



Tri cocktail -86 -95 56 -80 -6 -67 -75 41 86 -25 55 -42 63 75 91

swapped = True

lower_bound = 0

i = 2

upper_bound = 13



Tri cocktail -86 -95 56 -80 -6 -67 -75 41 86 -25 55 -42 63 75 91

swapped = True

lower_bound = 0

i = 1

upper_bound = 13



Tri cocktail -86 -95 56 -80 -6 -67 -75 41 86 -25 55 -42 63 75 91

swapped = True

lower_bound = 0

i = 1

upper_bound = 13



Tri cocktail -86 -95 56 -80 -6 -67 -75 41 86 -25 55 -42 63 75 91

swapped = True

lower_bound = 0

i = 1

upper_bound = 13



Tri cocktail -95 -86 56 -80 -6 -67 -75 41 86 -25 55 -42 63 75 91

swapped = True

lower_bound = 0

i = 1

upper_bound = 13



Tri cocktail -95 -86 56 -80 -6 -67 -75 41 86 -25 55 -42 63 75 91

swapped = False

lower_bound = 1

i = 1

upper_bound = 13



Tri cocktail -95 -86 56 -80 -6 -67 -75 41 86 -25 55 -42 63 75 91

swapped = False

lower_bound = 1

i = 1

upper_bound = 13



Tri cocktail -95 -86 56 -80 -6 -67 -75 41 86 -25 55 -42 63 75 91

swapped = False

lower_bound = 1

i = 2

upper_bound = 13



Tri cocktail -95 -86 56 -80 -6 -67 -75 41 86 -25 55 -42 63 75 91

swapped = False

lower_bound = 1

i = 2

upper_bound = 13



Tri cocktail -95 -86 -80 56 -6 -67 -75 41 86 -25 55 -42 63 75 91

swapped = False

lower_bound = 1

i = 2

upper_bound = 13



Tri cocktail -95 -86 -80 56 -6 -67 -75 41 86 -25 55 -42 63 75 91

swapped = True

lower_bound = 1

i = 3

upper_bound = 13



Tri cocktail -95 -86 -80 56 -6 -67 -75 41 86 -25 55 -42 63 75 91

swapped = True

lower_bound = 1

i = 3

upper_bound = 13



Tri cocktail -95 -86 -80 56 -6 -67 -75 41 86 -25 55 -42 63 75 91

swapped = True

lower_bound = 1

i = 3

upper_bound = 13



Tri cocktail -95 -86 -80 -6 56 -67 -75 41 86 -25 55 -42 63 75 91

swapped = True

lower_bound = 1

i = 3

upper_bound = 13



Tri cocktail -95 -86 -80 -6 56 -67 -75 41 86 -25 55 -42 63 75 91

swapped = True

lower_bound = 1

i = 4

upper_bound = 13



Tri cocktail -95 -86 -80 -6 56 -67 -75 41 86 -25 55 -42 63 75 91

swapped = True

lower_bound = 1

i = 4

upper_bound = 13



Tri cocktail -95 -86 -80 -6 56 -67 -75 41 86 -25 55 -42 63 75 91

swapped = True

lower_bound = 1

i = 4

upper_bound = 13



Tri cocktail -95 -86 -80 -6 -67 56 -75 41 86 -25 55 -42 63 75 91

swapped = True

lower_bound = 1

i = 4

upper_bound = 13



Tri cocktail -95 -86 -80 -6 -67 56 -75 41 86 -25 55 -42 63 75 91

swapped = True

lower_bound = 1

i = 5

upper_bound = 13



Tri cocktail -95 -86 -80 -6 -67 56 -75 41 86 -25 55 -42 63 75 91

swapped = True

lower_bound = 1

i = 5

upper_bound = 13



Tri cocktail -95 -86 -80 -6 -67 56 -75 41 86 -25 55 -42 63 75 91

swapped = True

lower_bound = 1

i = 5

upper_bound = 13



Tri cocktail -95 -86 -80 -6 -67 -75 56 41 86 -25 55 -42 63 75 91

swapped = True

lower_bound = 1

i = 5

upper_bound = 13



Tri cocktail -95 -86 -80 -6 -67 -75 56 41 86 -25 55 -42 63 75 91

swapped = True

lower_bound = 1

i = 6

upper_bound = 13



Tri cocktail -95 -86 -80 -6 -67 -75 56 41 86 -25 55 -42 63 75 91

swapped = True

lower_bound = 1

i = 6

upper_bound = 13



Tri cocktail -95 -86 -80 -6 -67 -75 56 41 86 -25 55 -42 63 75 91

swapped = True

lower_bound = 1

i = 6

upper_bound = 13



Tri cocktail -95 -86 -80 -6 -67 -75 41 56 86 -25 55 -42 63 75 91

swapped = True

lower_bound = 1

i = 6

upper_bound = 13



Tri cocktail -95 -86 -80 -6 -67 -75 41 56 86 -25 55 -42 63 75 91

swapped = True

lower_bound = 1

i = 7

upper_bound = 13



Tri cocktail -95 -86 -80 -6 -67 -75 41 56 86 -25 55 -42 63 75 91

swapped = True

lower_bound = 1

i = 7

upper_bound = 13



Tri cocktail -95 -86 -80 -6 -67 -75 41 56 86 -25 55 -42 63 75 91

swapped = True

lower_bound = 1

i = 8

upper_bound = 13



Tri cocktail -95 -86 -80 -6 -67 -75 41 56 86 -25 55 -42 63 75 91

swapped = True

lower_bound = 1

i = 8

upper_bound = 13



Tri cocktail -95 -86 -80 -6 -67 -75 41 56 -25 86 55 -42 63 75 91

swapped = True

lower_bound = 1

i = 8

upper_bound = 13



Tri cocktail -95 -86 -80 -6 -67 -75 41 56 -25 86 55 -42 63 75 91

swapped = True

lower_bound = 1

i = 9

upper_bound = 13



Tri cocktail -95 -86 -80 -6 -67 -75 41 56 -25 86 55 -42 63 75 91

swapped = True

lower_bound = 1

i = 9

upper_bound = 13



Tri cocktail -95 -86 -80 -6 -67 -75 41 56 -25 86 55 -42 63 75 91

swapped = True

lower_bound = 1

i = 9

upper_bound = 13



Tri cocktail -95 -86 -80 -6 -67 -75 41 56 -25 55 86 -42 63 75 91

swapped = True

lower_bound = 1

i = 9

upper_bound = 13



Tri cocktail -95 -86 -80 -6 -67 -75 41 56 -25 55 86 -42 63 75 91

swapped = True

lower_bound = 1

i = 10

upper_bound = 13



Tri cocktail -95 -86 -80 -6 -67 -75 41 56 -25 55 86 -42 63 75 91

swapped = True

lower_bound = 1

i = 10

upper_bound = 13



Tri cocktail -95 -86 -80 -6 -67 -75 41 56 -25 55 86 -42 63 75 91

swapped = True

lower_bound = 1

i = 10

upper_bound = 13



Tri cocktail -95 -86 -80 -6 -67 -75 41 56 -25 55 -42 86 63 75 91

swapped = True

lower_bound = 1

i = 10

upper_bound = 13



Tri cocktail -95 -86 -80 -6 -67 -75 41 56 -25 55 -42 86 63 75 91

swapped = True

lower_bound = 1

i = 11

upper_bound = 13



Tri cocktail -95 -86 -80 -6 -67 -75 41 56 -25 55 -42 86 63 75 91

swapped = True

lower_bound = 1

i = 11

upper_bound = 13



Tri cocktail -95 -86 -80 -6 -67 -75 41 56 -25 55 -42 86 63 75 91

swapped = True

lower_bound = 1

i = 11

upper_bound = 13



Tri cocktail -95 -86 -80 -6 -67 -75 41 56 -25 55 -42 63 86 75 91

swapped = True

lower_bound = 1

i = 11

upper_bound = 13



Tri cocktail -95 -86 -80 -6 -67 -75 41 56 -25 55 -42 63 86 75 91

swapped = True

lower_bound = 1

i = 12

upper_bound = 13



Tri cocktail -95 -86 -80 -6 -67 -75 41 56 -25 55 -42 63 86 75 91

swapped = True

lower_bound = 1

i = 12

upper_bound = 13



Tri cocktail -95 -86 -80 -6 -67 -75 41 56 -25 55 -42 63 86 75 91

swapped = True

lower_bound = 1

i = 12

upper_bound = 13



Tri cocktail -95 -86 -80 -6 -67 -75 41 56 -25 55 -42 63 75 86 91

swapped = True

lower_bound = 1

i = 12

upper_bound = 13



Tri cocktail -95 -86 -80 -6 -67 -75 41 56 -25 55 -42 63 75 86 91

swapped = False

lower_bound = 1

i = 12

upper_bound = 12



Tri cocktail -95 -86 -80 -6 -67 -75 41 56 -25 55 -42 63 75 86 91

swapped = False

lower_bound = 1

i = 12

upper_bound = 12



Tri cocktail -95 -86 -80 -6 -67 -75 41 56 -25 55 -42 63 75 86 91

swapped = False

lower_bound = 1

i = 11

upper_bound = 12



Tri cocktail -95 -86 -80 -6 -67 -75 41 56 -25 55 -42 63 75 86 91

swapped = False

lower_bound = 1

i = 10

upper_bound = 12



Tri cocktail -95 -86 -80 -6 -67 -75 41 56 -25 55 -42 63 75 86 91

swapped = False

lower_bound = 1

i = 10

upper_bound = 12



Tri cocktail -95 -86 -80 -6 -67 -75 41 56 -25 -42 55 63 75 86 91

swapped = False

lower_bound = 1

i = 10

upper_bound = 12



Tri cocktail -95 -86 -80 -6 -67 -75 41 56 -25 -42 55 63 75 86 91

swapped = True

lower_bound = 1

i = 9

upper_bound = 12



Tri cocktail -95 -86 -80 -6 -67 -75 41 56 -25 -42 55 63 75 86 91

swapped = True

lower_bound = 1

i = 9

upper_bound = 12



Tri cocktail -95 -86 -80 -6 -67 -75 41 56 -25 -42 55 63 75 86 91

swapped = True

lower_bound = 1

i = 9

upper_bound = 12



Tri cocktail -95 -86 -80 -6 -67 -75 41 56 -42 -25 55 63 75 86 91

swapped = True

lower_bound = 1

i = 9

upper_bound = 12



Tri cocktail -95 -86 -80 -6 -67 -75 41 56 -42 -25 55 63 75 86 91

swapped = True

lower_bound = 1

i = 8

upper_bound = 12



Tri cocktail -95 -86 -80 -6 -67 -75 41 56 -42 -25 55 63 75 86 91

swapped = True

lower_bound = 1

i = 8

upper_bound = 12



Tri cocktail -95 -86 -80 -6 -67 -75 41 56 -42 -25 55 63 75 86 91

swapped = True

lower_bound = 1

i = 8

upper_bound = 12



Tri cocktail -95 -86 -80 -6 -67 -75 41 -42 56 -25 55 63 75 86 91

swapped = True

lower_bound = 1

i = 8

upper_bound = 12



Tri cocktail -95 -86 -80 -6 -67 -75 41 -42 56 -25 55 63 75 86 91

swapped = True

lower_bound = 1

i = 7

upper_bound = 12



Tri cocktail -95 -86 -80 -6 -67 -75 41 -42 56 -25 55 63 75 86 91

swapped = True

lower_bound = 1

i = 7

upper_bound = 12



Tri cocktail -95 -86 -80 -6 -67 -75 41 -42 56 -25 55 63 75 86 91

swapped = True

lower_bound = 1

i = 7

upper_bound = 12



Tri cocktail -95 -86 -80 -6 -67 -75 -42 41 56 -25 55 63 75 86 91

swapped = True

lower_bound = 1

i = 7

upper_bound = 12



Tri cocktail -95 -86 -80 -6 -67 -75 -42 41 56 -25 55 63 75 86 91

swapped = True

lower_bound = 1

i = 6

upper_bound = 12



Tri cocktail -95 -86 -80 -6 -67 -75 -42 41 56 -25 55 63 75 86 91

swapped = True

lower_bound = 1

i = 6

upper_bound = 12



Tri cocktail -95 -86 -80 -6 -67 -75 -42 41 56 -25 55 63 75 86 91

swapped = True

lower_bound = 1

i = 5

upper_bound = 12



Tri cocktail -95 -86 -80 -6 -67 -75 -42 41 56 -25 55 63 75 86 91

swapped = True

lower_bound = 1

i = 5

upper_bound = 12



Tri cocktail -95 -86 -80 -6 -75 -67 -42 41 56 -25 55 63 75 86 91

swapped = True

lower_bound = 1

i = 5

upper_bound = 12



Tri cocktail -95 -86 -80 -6 -75 -67 -42 41 56 -25 55 63 75 86 91

swapped = True

lower_bound = 1

i = 4

upper_bound = 12



Tri cocktail -95 -86 -80 -6 -75 -67 -42 41 56 -25 55 63 75 86 91

swapped = True

lower_bound = 1

i = 4

upper_bound = 12



Tri cocktail -95 -86 -80 -6 -75 -67 -42 41 56 -25 55 63 75 86 91

swapped = True

lower_bound = 1

i = 4

upper_bound = 12



Tri cocktail -95 -86 -80 -75 -6 -67 -42 41 56 -25 55 63 75 86 91

swapped = True

lower_bound = 1

i = 4

upper_bound = 12



Tri cocktail -95 -86 -80 -75 -6 -67 -42 41 56 -25 55 63 75 86 91

swapped = True

lower_bound = 1

i = 3

upper_bound = 12



Tri cocktail -95 -86 -80 -75 -6 -67 -42 41 56 -25 55 63 75 86 91

swapped = True

lower_bound = 1

i = 3

upper_bound = 12



Tri cocktail -95 -86 -80 -75 -6 -67 -42 41 56 -25 55 63 75 86 91

swapped = True

lower_bound = 1

i = 2

upper_bound = 12



Tri cocktail -95 -86 -80 -75 -6 -67 -42 41 56 -25 55 63 75 86 91

swapped = False

lower_bound = 2

i = 2

upper_bound = 12



Tri cocktail -95 -86 -80 -75 -6 -67 -42 41 56 -25 55 63 75 86 91

swapped = False

lower_bound = 2

i = 2

upper_bound = 12



Tri cocktail -95 -86 -80 -75 -6 -67 -42 41 56 -25 55 63 75 86 91

swapped = False

lower_bound = 2

i = 3

upper_bound = 12



Tri cocktail -95 -86 -80 -75 -6 -67 -42 41 56 -25 55 63 75 86 91

swapped = False

lower_bound = 2

i = 4

upper_bound = 12



Tri cocktail -95 -86 -80 -75 -6 -67 -42 41 56 -25 55 63 75 86 91

swapped = False

lower_bound = 2

i = 4

upper_bound = 12



Tri cocktail -95 -86 -80 -75 -67 -6 -42 41 56 -25 55 63 75 86 91

swapped = False

lower_bound = 2

i = 4

upper_bound = 12



Tri cocktail -95 -86 -80 -75 -67 -6 -42 41 56 -25 55 63 75 86 91

swapped = True

lower_bound = 2

i = 5

upper_bound = 12



Tri cocktail -95 -86 -80 -75 -67 -6 -42 41 56 -25 55 63 75 86 91

swapped = True

lower_bound = 2

i = 5

upper_bound = 12



Tri cocktail -95 -86 -80 -75 -67 -6 -42 41 56 -25 55 63 75 86 91

swapped = True

lower_bound = 2

i = 5

upper_bound = 12



Tri cocktail -95 -86 -80 -75 -67 -42 -6 41 56 -25 55 63 75 86 91

swapped = True

lower_bound = 2

i = 5

upper_bound = 12



Tri cocktail -95 -86 -80 -75 -67 -42 -6 41 56 -25 55 63 75 86 91

swapped = True

lower_bound = 2

i = 6

upper_bound = 12



Tri cocktail -95 -86 -80 -75 -67 -42 -6 41 56 -25 55 63 75 86 91

swapped = True

lower_bound = 2

i = 6

upper_bound = 12



Tri cocktail -95 -86 -80 -75 -67 -42 -6 41 56 -25 55 63 75 86 91

swapped = True

lower_bound = 2

i = 7

upper_bound = 12



Tri cocktail -95 -86 -80 -75 -67 -42 -6 41 56 -25 55 63 75 86 91

swapped = True

lower_bound = 2

i = 8

upper_bound = 12



Tri cocktail -95 -86 -80 -75 -67 -42 -6 41 56 -25 55 63 75 86 91

swapped = True

lower_bound = 2

i = 8

upper_bound = 12



Tri cocktail -95 -86 -80 -75 -67 -42 -6 41 -25 56 55 63 75 86 91

swapped = True

lower_bound = 2

i = 8

upper_bound = 12



Tri cocktail -95 -86 -80 -75 -67 -42 -6 41 -25 56 55 63 75 86 91

swapped = True

lower_bound = 2

i = 9

upper_bound = 12



Tri cocktail -95 -86 -80 -75 -67 -42 -6 41 -25 56 55 63 75 86 91

swapped = True

lower_bound = 2

i = 9

upper_bound = 12



Tri cocktail -95 -86 -80 -75 -67 -42 -6 41 -25 56 55 63 75 86 91

swapped = True

lower_bound = 2

i = 9

upper_bound = 12



Tri cocktail -95 -86 -80 -75 -67 -42 -6 41 -25 55 56 63 75 86 91

swapped = True

lower_bound = 2

i = 9

upper_bound = 12



Tri cocktail -95 -86 -80 -75 -67 -42 -6 41 -25 55 56 63 75 86 91

swapped = True

lower_bound = 2

i = 10

upper_bound = 12



Tri cocktail -95 -86 -80 -75 -67 -42 -6 41 -25 55 56 63 75 86 91

swapped = True

lower_bound = 2

i = 10

upper_bound = 12



Tri cocktail -95 -86 -80 -75 -67 -42 -6 41 -25 55 56 63 75 86 91

swapped = True

lower_bound = 2

i = 11

upper_bound = 12



Tri cocktail -95 -86 -80 -75 -67 -42 -6 41 -25 55 56 63 75 86 91

swapped = False

lower_bound = 2

i = 11

upper_bound = 11



Tri cocktail -95 -86 -80 -75 -67 -42 -6 41 -25 55 56 63 75 86 91

swapped = False

lower_bound = 2

i = 11

upper_bound = 11



Tri cocktail -95 -86 -80 -75 -67 -42 -6 41 -25 55 56 63 75 86 91

swapped = False

lower_bound = 2

i = 10

upper_bound = 11



Tri cocktail -95 -86 -80 -75 -67 -42 -6 41 -25 55 56 63 75 86 91

swapped = False

lower_bound = 2

i = 9

upper_bound = 11



Tri cocktail -95 -86 -80 -75 -67 -42 -6 41 -25 55 56 63 75 86 91

swapped = False

lower_bound = 2

i = 8

upper_bound = 11



Tri cocktail -95 -86 -80 -75 -67 -42 -6 41 -25 55 56 63 75 86 91

swapped = False

lower_bound = 2

i = 8

upper_bound = 11



Tri cocktail -95 -86 -80 -75 -67 -42 -6 -25 41 55 56 63 75 86 91

swapped = False

lower_bound = 2

i = 8

upper_bound = 11



Tri cocktail -95 -86 -80 -75 -67 -42 -6 -25 41 55 56 63 75 86 91

swapped = True

lower_bound = 2

i = 7

upper_bound = 11



Tri cocktail -95 -86 -80 -75 -67 -42 -6 -25 41 55 56 63 75 86 91

swapped = True

lower_bound = 2

i = 7

upper_bound = 11



Tri cocktail -95 -86 -80 -75 -67 -42 -6 -25 41 55 56 63 75 86 91

swapped = True

lower_bound = 2

i = 7

upper_bound = 11



Tri cocktail -95 -86 -80 -75 -67 -42 -25 -6 41 55 56 63 75 86 91

swapped = True

lower_bound = 2

i = 7

upper_bound = 11



Tri cocktail -95 -86 -80 -75 -67 -42 -25 -6 41 55 56 63 75 86 91

swapped = True

lower_bound = 2

i = 6

upper_bound = 11



Tri cocktail -95 -86 -80 -75 -67 -42 -25 -6 41 55 56 63 75 86 91

swapped = True

lower_bound = 2

i = 6

upper_bound = 11



Tri cocktail -95 -86 -80 -75 -67 -42 -25 -6 41 55 56 63 75 86 91

swapped = True

lower_bound = 2

i = 5

upper_bound = 11



Tri cocktail -95 -86 -80 -75 -67 -42 -25 -6 41 55 56 63 75 86 91

swapped = True

lower_bound = 2

i = 4

upper_bound = 11



Tri cocktail -95 -86 -80 -75 -67 -42 -25 -6 41 55 56 63 75 86 91

swapped = True

lower_bound = 2

i = 3

upper_bound = 11



Tri cocktail -95 -86 -80 -75 -67 -42 -25 -6 41 55 56 63 75 86 91

swapped = False

lower_bound = 3

i = 3

upper_bound = 11



Tri cocktail -95 -86 -80 -75 -67 -42 -25 -6 41 55 56 63 75 86 91

swapped = False

lower_bound = 3

i = 3

upper_bound = 11



Tri cocktail -95 -86 -80 -75 -67 -42 -25 -6 41 55 56 63 75 86 91

swapped = False

lower_bound = 3

i = 4

upper_bound = 11



Tri cocktail -95 -86 -80 -75 -67 -42 -25 -6 41 55 56 63 75 86 91

swapped = False

lower_bound = 3

i = 5

upper_bound = 11



Tri cocktail -95 -86 -80 -75 -67 -42 -25 -6 41 55 56 63 75 86 91

swapped = False

lower_bound = 3

i = 6

upper_bound = 11



Tri cocktail -95 -86 -80 -75 -67 -42 -25 -6 41 55 56 63 75 86 91

swapped = False

lower_bound = 3

i = 7

upper_bound = 11



Tri cocktail -95 -86 -80 -75 -67 -42 -25 -6 41 55 56 63 75 86 91

swapped = False

lower_bound = 3

i = 8

upper_bound = 11



Tri cocktail -95 -86 -80 -75 -67 -42 -25 -6 41 55 56 63 75 86 91

swapped = False

lower_bound = 3

i = 9

upper_bound = 11



Tri cocktail -95 -86 -80 -75 -67 -42 -25 -6 41 55 56 63 75 86 91

swapped = False

lower_bound = 3

i = 10

upper_bound = 11


